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movedisc(unsigned n,char fromneedle,char toneedle,char



usingneedle).int i=0.void main(){ unsigned n. printf("please enter
the number of disc:"). scanf("%d",&amp.n). /*00 OO NI */
printf("\tneedle:\ta\t b\t c\n"). movedisc(n,a,c,b). /0 AO O OB
ONO OO OO OO * printf("\t Total: %d\n",i).}void
movedisc(unsigned n,char fromneedle,char toneedle,char
usingneedle){ if(n>0) {
movedisc(n-1,fromneedle,usingneedle,toneedle). /*[1 fromneedle]
[1 [ toneedleld N-10 OJ 00 O OO O usingneedlel */ 1.
switch(fromneedle) /*J fromneedle U [ I O O O O O toneedle
[1 */ { case a: switch(toneedle) { case b:

printf("\t[%d]:\t-......... >-\n",i,n,n). break. case c:
printf("\t[%d]:\t-............... >-\n",i,n,n). break. } break. case b:
switch(toneedle) { case a: printf("\t[%d]:\t--\n",i,n,n). break. case c:
printf("\t[%d]:\t -........ >-\n",i,n,n). break. } break. case c:
switch(toneedle) { case a: printf("\t[%d]:\t- break. case b:
printf("\t[%d]:\t- break. } break. }
movedisc(n-1,usingneedle,toneedle,fromneedle). /*[1 usingneedle
[ O 0O fromneedlel] N-100 0O O O 0O O toneedled */ }}*0 0O U O
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